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EXAMEN 1

a. E(-33) E 0)={x€ER,;—6<x<0]

b.()

(6—V6)
a. 2-V3 b. 0

(— ,—2)U(=23)={xER ;—T<x<—2]U{xER ;—2<x<3]

3. a 17/2 b, -3 4. @ 114,23 mill litros
102,02  “/o

27.788,03 € 6. a. 3566 € b. 10584 € 7. 21 anos

.a. No existe b. (04) c (1,40) d (—o3) 2.

a. 23,28 € b. 0,8316

134.579,20 €

(2-V3+3-45)

5 2. a

21-Y3-14-32 2. a.

.a. 9 aios b. 8,69 arios 5. 763,19 € 6. 5843697 €

EXAMEN 2

542
2

3. a 7/3 b -3

c. 20,25 °/o 5. 41.943,75 € 6. a. 616,46 € b. 3620,56 €

EXAMEN 3

7/3 b, —6 3. a 45738 € b. 8,9 °lo

.a. 154211,57 € b. TAE=1,76 °lo 5. a. 5682 € b. 113,68 € 6. 14 aiios

EXAMEN 4

8/3 b. -9 3. a 355 € b 09243 c 7,56 °lo



